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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |
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Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT



Question Number : 5 Question Id : 59345211252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM

Question Number : 10 Question Id : 59345211257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth

Question Number : 13 Question Id : 59345211260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,

Question Number : 15 Question Id : 59345211262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR

1. ¢



Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO

Question Number : 27 Question Id : 59345211274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)

Question Number : 34 Question Id : 59345211281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

AT AES] H AU g9 AR = & AGHIT 99T & A= & HAwIT
Options :
Error

ap

Contradiction
R IR
3. %
Difference

4%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90

Question Number : 40 Question Id : 59345211287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Pinocytosis is type of :

Options :

Exocytosis

1. =

Endocytosis
2. yiost

Necrosis
E

4 % Apoptosis
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Vision is possible due to which form of Vitamin A ?
Options :
% B-carotene

5 ® Retinol

3 Retinal

4 w Retinoic Acid
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of following subcellular organelle is involved in detoxification ?
Options :

| Endoplasmic reticulum

) % Golgi body

3 % Lysosomes



4 % Nucleus

Question Number : 44 Question Id : 59345211291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All the following have branched aliphatic side chains excepr

Options :
Tyrosine

5 % [soleucing

« Leucine

4 % Valine
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is an example for aromatic amino acid ?
Options :
Serine



) Tryptophan

3 % Glycine

4% Leucine
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A particular segment of DNA can be clipped out by using :
Options :
| ® Polymerase chain reaction

Deoxyribonuclease
Cosmid

Restriction endonuclease
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

HDL is synthesized and secreted from :



Options :
Pancreas
e

-
. Liver
Kidney

4% Intestines
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Two alpha and two beta chains are present in :
Options :
HbF

1. =

, » HOE

3 o HbA

HbA2

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Respiratory acidosis results from :
Options :

L Retention of carbon dioxide

5 % Excessive elimination of carbon dioxide

3 % Retention of bicarbonate

L % Excessive elimination of bicarbonate
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

pH of plasma is :
Options :

| o 135745
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The major lipid in chylomicron is :
Options :
triglyceride

, % phospholipid
cholesterol

4% free fatty acid
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Diabetes insipidus is caused by deficient secretion of :
Options :

% [nsulin

5 % Glucagon

Vasopressin



4% Oxytocin
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Primary pacemaker of the Heart is :
Options :

| % AV node

) % Purkinje

" His bundle

4 SA node
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All of the following biomolecules are reabsorbed from the renal tubules excepr :
Options :

| % Glucose



Amino acid
e

3 % Sodium

4 Creatinine
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Alpha particles carry positive charges :

Options :
1

1. =

2
2. 7
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Decrease in Sodium concentration is known as :



Options :

L& Hyponatremia

» % Hypernatremia

3 % Hyperkalemia

4 % Hypokalemia
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Aldosterone is secreted by :
Options :
| @ Adrenal

5 % Parathyroid gland

3 % Pituitary gland

4 % Kidney
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which is correct about physiological findings seen after lying down ?
Options :

L % Decrease in cerebral blood flow

- Increase in venous return to the heart

3 % Decrease blood flow to the apex

4% Decrease venous return to the heart
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Total Lung Capacity (TLC) is:
Options :

L% 34L

22L

6L
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The main driving force for water reabsorption by the proximal tubule epithelium is :
Options :
% Active reabsorption of amino acids and glucose

f '1;.1 l.-| = = T
- Active reabsorption of Na+

3 % Active reabsorption of water

4 % The high colloid osmotic pressure in the peritubular capillaries
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chargaff's rule is related to :
Options :

| Protein folding in ER

5 % Post translational modification

3@ Complementary base pairing



4% mRNA splicing
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Snell's law relates ;
Options :

L& Light refraction

» % Light reflection

. Light absorption

4% Light transmission
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Stage when greater than normal stimulus does not cause flow of impulse in nerve muscle
preparation :
Options :

. Latent refractory period



Relative refractory period

3 ¢ Absolute refractory period

Early relaxation period
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The force of muscular contraction can be increased by all of the following excepr :
Options :
Increasing the frequency of activation of motor units

Increasing the number of motor units activated

3 Increasing the amplitude of action potential in the motor neurons

4% Recruiting large motor units
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

Function of phospholamban is :
Options :
L % Regulate Na-K pump

) % Transport calcium out of mitochondria

3 % Binds actin with myosin

4 [nhibits sarcoplasmic reticulum ATPase
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Cardiac output decreases during :
Options :
_ Moderate increase in environmental temperature

) % Anxiety and excitement

3 % Eating

L Standing from lying down position
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Distribution of blood flow is mainly regulated by the :
Options :
Arteries
S

v Arterioles

3 % Capillaries

4 % Venules
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Substance used for measurement of glomerular filtration rate by clearance method is :
Options :
L& [nulin

Evan's blue
F



., Trypan's blue

© Radioactive iodine
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The average life span of RBCs is nearly :
Options :
L 3-4 months

6-8 months
F

0-12 months
F

4% Less than 1 month
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Surfactant is mainly made up of :

Options :



| Phospholipids

Fibrin
w

Thrombin

3. %

4 % Fibrinogen
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following immunoglobulin crosses placenta ?

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Northern blot is used to visualize :

Options :

_ DNA
1. %

) RNA

 Protein
3. %

4 % Antibody
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

CO; enters capillaries by :

Options :

. Diffusion
Permeation

Osmosis
F

Active transport
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The muscle which is referred to as 'Peripheral Heart' is :
Options :

Soleus
1.+

) % Gastronemius

3 % Gluteus maximus

4 % Quadriceps femoris
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Myelin sheath in peripheral nerves is produced by :
Options :

L Schwann cells

Astrocytes



« Ependymal cells

4% Microglial cells
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which enzyme helps in the flow of genetic information from RNA to DNA ?

Options :

| % DNA Ligase

) % Restriction endonuclease

3 % RNA polymerase

'\.f l.-| l.-| . --
4 Reverse franscriptase
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Exchange of segments between non homologous chromosomes is known as :

Options :



Deletion
. Translocation

3 % Inversion

Duplication
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is an example of a DNA virus ?
Options :
L@ Adenovirus

- .|I.I.'. -
- Picornavirus

3 % Corona virus

Retrovirus
%
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

latrogenic infections refer to those infections which are transmitted :
Options :

L ® Through animals

) % By Inhalation

3 During medical and laboratory procedures

4% By ingestion
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Grafts between two genetically non identical members of same species is called :
Options :

% Xenograft

5 % [sograft

3 % Autograft

4 Allograft
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following blood groups is referred to as 'Universal Donor’ 7

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All are examples of live attenuated vaccines excepr :
Options :
Oral Polio vaccine

Measles vaccine



BCG vaccine

: 1'-'.( i
4 Covaxin
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All of the following agents may be used for sterilisation excepr :
Options :

_ Ethyl alcohol
1. % i

5 % Formaldehyde

3 % Ethylene oxide

4 Hydrogen fluoride

Question Number : 84 Question Id : 59345211331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In sickle cell anaemia, glutamic acid on the 6th position of the p globin chain is replaced
by :
Options :



L% Glycine

4 Arginine

3  Valine

4 % Proline

Question Number : 85 Question Id : 59345211332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Vitamin C deficiency results in :
Options :

| % Rickets

) Scurvy

3 % Night blindness

4 % Pernicious anaemia

Question Number : 86 Question Id : 59345211333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



All are examples of plasma proteins except :
Options :
| % Albumin

5 % Globulin

3 Creatine

4% Fibrinogen

Question Number : 87 Question Id : 59345211334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Normal glomerular filtration rate is around :
Options :

| % >0 ml/min

» % 200 ml/min

;3 % 700 m/min

4 125 ml/min

Question Number : 88 Question Id : 59345211335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is an acidic amino acid ?

Options :

L% Alanine

) % Glycine

3 % Serine

4 Glutamate

Question Number : 89 Question Id : 59345211336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Vitamin B12 contains :

Options :

L% Zinc

“ Selenium

3 % Copper

4 Cobalt



Question Number : 90 Question Id : 59345211337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Repetitive DNA sequence found at the end of all human chromosomes is called :
Options :

L Telomere

. Telomerase
2. %

., Kozak sequence

4 % Shine Dalgarno sequence

Question Number : 91 Question Id : 59345211338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The predominant buffer system in plasma is :
Options :
| » Phosphate buffer

) & Bicarbonate buffer

;% Hemoglobin buffer



4 % Acetate buffer

Question Number : 92 Question Id : 59345211339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Major normal adult haemoglobin is :
Options :

L% HbF

, » HbS

3@ HbA

, % HbD

Question Number : 93 Question Id : 59345211340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A method used to insert DNA molecules into the cells by using short electrical impulses
is known as :
Options :

., Biolistics



) % Microinjection

3 % Liposomes

4 Electroporation

Question Number : 94 Question Id : 59345211341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is a plasmid ?
Options :

9
L& pBR322

) % EcoR 1

» Bam H1

4% Sal 1

Question Number : 95 Question Id : 59345211342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which enzyme is used to join nicks in the DNA strand ?



Options :
Primase

) % DNA polymerase

DNA ligase
. g

4% Endonuclease

Question Number : 96 Question Id : 59345211343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
ST unit of Magnetic Flux :
Options :

T -
L& Weber

) % Ampere

3 % Maxwell

Teslameter

Question Number : 97 Question Id : 59345211344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The first law of Thermodynamics is the law of :
Options :

" Conservation of Momentum

Conservation of Ener
2. o

3 % Conservation of Mass

4 % Conservation of Heat

Question Number : 98 Question Id : 59345211345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Osmolality is defined as :
Options :

| % Number of osmoles per liter

) Number of osmoles per kilogram

3 % Number of moles per liter

4 % Number of gram equivalents of solute in one liter



Question Number : 99 Question Id : 59345211346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following represents the weakest force ?
Options :
Covalent bond

T . VAT .
) Vander Waals

_ Hydroeen bond
3. % - -

4 % [onic bond

Question Number : 100 Question Id : 59345211347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Protein separation based on Molecular size :
Options :
Salting Out
u —

5 % Affinity Chromatography

, » HPLC



4 Gel chromatography



